Vitthalbhai Patel & Rajratna P. T. Patel Science College,
Vallabh Vidyanagar
B. Sc. (Semester-I)
Subject : GENERAL CHEMISTRY-I (USO1CCHE21)

Date : 01-10-2018 Internal Test Marks : 50
Day : Monday Time:12.30to 2.30 p.m.

Note: (i) All questions are to be attempted.
(i) Figures to the right indicate marks.

Q.1 Choose the correct option for the following : [08]
(i) Disappearance of purple colour of dil. KMnOy, in its reaction with alkene is known as :
V('a) Bayer's test (b) Saytzeff test (c) Grignard reaction (d) lodoform test
(ii) Addition of HBr in presence of peroxide to alkene follows ........... .
(a) Markonikov's rule Ab) Anti-Markonikov’s rule

(c) Satyzeff rule (d) None of these
(i) Which is the more fundamental property of the elements ?
(a) Atomic weight  (b) lonic radius  (c) Atomic number  (d) lonization energy

(1) [R— elements does not form ionic compound readily.
(a) Be (b) Sr (c) Ca (d) Mg
(v)  Asubstance having tendency to lose H' is called ............ ;
(a) Lewis acid (b) Arrhenius acid
v~(c) Lowry-Bronsted acid (d) Conjugate base
(vi) A weak base has strong conjugate ................ :
\4a) acid (b) base (c) neutral (d) salt
(vii)  Which of the following method is based on amount of sample?
(a) proximate analysis (b) partial analysis
(c) complete analysis (d) macro analysis
(viii) The degree of closeness between measured value and true value is ............ :

(a) accuracy (b) precision (c) method (d) analysis
Q2 Answer the following (Attempt any Five) : {10]

(i) 1-Butyne gives white precipitation with Tollen’s reagent while 2-butyne does not. Why?
(i) Explain: Boiling point of n-butane is higher than iso-butane.
(iii)  Define: (i) lonization energy (ii) Shielding effect
(iv)  Explain: Successive ionization energy is always higher than preceding one.
(v)  What is the conjugate base of the following ions or compound?
(i) HS (i) H30" (iii) H,S04 (iv) NH3
(vi)  What is common ion effect ?
(vii)  “Precision always accompanies accuracy but high degree of precision does not
mean accuracy” Justify the statement.
(viii) Discuss advantages and disadvantages of chemical method.
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Answer the following:

Calculate the percentage of isomeric products obtained upon monochlorination of

n-pentane. The relative reactivity of 1% 2° and 3° H are 1: 3.8: 5 respectively.

Define chain reaction. Write reaction mechanism for the bromination of ethane.
OR

Answer the following:

Arrange the boiling point of following molecules in the increasing order of boiling
point and explain your answer.

(a) Pentane (b) Isopentane (c) Neopentane.

Write reaction mechanism for the Addition of Br, /H,0 to alkene.

Answer the following :
Discuss the long form of periodic table.
Calculate the screening constant and effective nuclear charge on 4s electron of
(ifMn(Z=25) (i) K (2= 19)
OR
Answer the following:
Discuss the factors affecting magnitude of ionization energy.
On the basis of Hannay and Smith equation calculate the percentage ionic
character in gaseous HF and HCI. (Given: ¢ =4.0, X = 3.2, x4y = 2.2 )

Answer the following :

What is hydrolysis ? Derive an equation correlating K, and K,, for a sodium acetate
in water.

The solubility product of Lead sulphate is 1.8 x 10® Calculate the solubility of
Lead sulphate in (i) Pure water (ii) 0.1M Pb(NO;), solution
OR

Answer the following :
Write note on selective precipitation with suitable example.

A saturated solution of La(lO;); in pure water has a concentration of iodate ion equal

to 2.07 x 10° M at 25 °C. What is the concentration of La** ion ? Calculate the
solubility product of La(l0s); .
Answer the following :

During iron estimation of the sample the results obtained are 8.0,82,84,85,96
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ppm. Check whether the questionable value 9.6 should be rejected or not. [Qcrit = 0.710].

From the following results, calculate mean, standard deviation, relative standard
deviation and variance. 29:8, 30.2, 28.6, 29.7%
OR
Answer the following :
Give classification of chemical analysis.
What is sampling? Discuss sampling of solid, liquid and gas.
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Date : 09-10-2018 . Arrear Test Marks : 50
Day : Tuesday ) Time : 12.30 to 2.30 p.m.

Note: (i) All questions are to be attempted.
(i) Figures to the right indicate marks.

Q.1 Choose the correct option for the following : [08]
(i) How many isomers are possible for butane ?
(a) 2 (b) 3 \S,é) 4 (d) 5
(ii) Addition of HBr in presence of peroxide to alkene follows ............ .
(a) Markonikov’s rule (b) Anti-Markonikov’s rule
dz’) Satyzeff rule (d) None of these

(iii)  Which is the more fundamental property of the elements ?
(a) Atomic weight _(b) lonic radius  (c) Atomic number  (d) lonization energy

(iv)  .......isnotgas at room temperature.
(a) H, (b) N, 3,{)’ Br,  Ad)Ne

(v)  Asubstance having tendency to lose H' is called ............ :

Lewis acid (b) Arrhenius acid
(c) Lowry-Bronsted acid (d) Conjugate base
(vi)  The conjugate base of H30" is .......ccooo.ce. .
(a) OH (b) H,0 (c) HCO3 _Ad) NHO;
(vii)  Which of the following method is based on amount of sample?
a) proximate analysis (b) partial analysis
(c) complete analysis (d) macro analysis

(vii) The degree of closeness between measured value and true value is ........... .
(a) accuracy (b) precision JAE) method (d) analysis

Q.2 aApswer the following (Attempt any Five) : [10]

M) What is Grignard reagent ?
i) Explain: Boiling point of n-butane is higher than iso-butane.
(i) Define: (i) Activation energy (i) Intervening electrons
Jiv)  Explain: Successive jonization energy is always higher than preceding one.
(v}  What is the conjugate base of the following ions or compound?
(i) HS (i) HF (i) HSOs  (iv) HNO;
(v} What is common buffer solution ?
: ~()_‘ii) “Precision always accompanies accuracy but high degree of precision does not
mean accuracy” Justify the statement. :
_ {vil) Discuss advantages and disadvantages of chemical method.
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Q.3 Answer the following: [08]
[al  Calculate the percentage of isomeric products obtained upon monochlorination of
n-pentane. The relative reactivity of 1% 2°and 3°Hare 1: 3.8: 5 respectively.
[b] Write note on 1,2- elimination reaction.
OR

Q.3 Answer the following: [08]

4] Arrange the boiling point of following molecules in the increasing order of boiling
point and explain your answer.

(a) Pentane (b) Isopentane (c) Neopentane.
[b]  Give Keto-enol tautomerism with illustration..

Q.4 Answer the following : [08]
[a] Discuss the defects of Mendeleeff’s periodic table.
[b] Calculate the screening constant and effective nuclear charge on 4s electron of
(i) Mn (Z=25) (i) Cu(Z=29)
OR
Q.4 Answer the fallowing: [08]
qa] Discuss the factors affecting magnitude of electron affinity. '

[b]  On the basis of Hannay and Smith equation calculate the percentage ionic
character in gaseous HF and HCI. (Given: x; =4.0, Xa=3.2, X4 =2.2)

Q.5 Answer the following : [08]

[a] What is hydrolysis ? Derive an equation correlating K;, and K,, for a sodium acetate
in water.
[b] Calculate the solubility of Lead sulphate in a solution of 0.1M H;0" by taking account

of the reaction.
OR

Q.5 Answer the following : [08]
[a] Discuss the Arrhenius acid-base concept with its limitation .
[b] A saturated solution of La(l0s); in pure water has a concentration of iodate ion equal

to 2.07 x 10” M at 25 °C. What is the concentration of La*® ion ? Calculate the

solubility product of La(10s); .
Q.6 Answer the following : [08]
[al  During iron estimation of the sample the results obtained are 8.0, 8.2, 8.4, 8.5, 9.6

ppm. Check whether the questionable value 9.6 should be rejected or not. [Qcrit = 0.710].
[b]  Give the advantages and disadvantages of chemical methods and instrumental

methods.

OR

Q.6 Answer the following :
[a] Give the application of chemical analysis.
[b].  What is sampling? Discuss sampling ofisolid, liquid and gas.
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V.P. & R.P.T.P. SCIENCE COLLEGE
B.Sc. (SEMESTER - I) Internal Test Exam

General Chemistry - I: US01CCHE21 Time: 1:00 pm to 2:15 pm
Date: 03-10-2019, Thursday Total Marks: 25
Q-1.  Choose the correct option (Multiple choice questions). (05)

() Which of the following compound is alkenol?
(a) 2-propanol  (b) 2-butenal  (c) Vinyl chloride &D Allyl alcohol

(ii) Ozonolysis of 2-pentyne produces .
(a) propanoic acid (b) acetic acid both ‘a’ & ‘b’ (d) none of these

(iii)  Which of the following pair has not diagonal relationship?
(a) Li-Mg (b) Be-Al (c)N-S Ad) C-Si

(iv)  For given value of ‘n’ the degree of penetration of electron is least one for ___ orbital.
@ d () p © s D) £

W) The analysis in which we find out selected constituents of the sample is known as L
(a) Proximate analysis 1 (b) Partial analysis
(c) Trace constituent analysis (d) Complete analysis

Q-2 (a) Define: (i) free radical (ii) chain reaction. (05)
Give reaction and reaction mechanism of free radical chlorination of Methane.
OR
Q-2 (a) Explain: (i) Boiling point of cis-2-butene is higher than trans-2-butene. (05)
(ii) 1-Butyne gives white precipitation with Tollen’s reagent while
2-butyne does not.

Q-3 (a) Describe long form of periodic table with suitable diagram. (05)
OR

Q-3 (a) Discuss the applications of electronegativity. (05)

Q-4 (a) Explain selective precipitation for a mixture of 0.IM Zn*? and 0.1M Fe*? solution. (05)
Also explain the role of buffer solution to maintain sulfide ion concentration during
this precipitation. Given: Ksp(ZnS) = 4.5 x 10%, Kp (FeS) = 1 x 10" and K, (H,S)
=LIx 102,
' OR
Q-4 (a) Discuss the Arrhenius, Lowry-Bronsted and Lewis theories of acids and bases with (05)
suitable examples. Write limitations also.

Q-5(a) Define : (i) Accuracy (ii) Precision. (05)
~~ Give the applications of chemical analysis.
OR

Q-5(a) Define : Error. How will you minimize errors? 05)
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Mendey Subject- General Chemistry-1. (USO1CCHE21)  Time: 2-00 to 5-00#M
Q-1. Choose the correct option for the following : [10]

(i) The general formula of Gignard reagent is
\A3) RMgX (b)ROH  (c)RH  (d) HX
(ii)  Eymechanism involves as an intermediate.
(a) carbanion  (b) free radical ‘(/c);:arbocation (d) none of these
(i) Which carbon cation is least stable?
(@) 1° (b) 2° () 3° \@,*CHg
(iv)  The position of which element in periodic table is still a matter of dispute ?
(@H (b) Hy (o) Li (d)c
(v) The actual order of electron affinity of halogen elements s ....
(@) F>CI>Br>1 (b)F<Cl<Br<I (c)F>Cl<Br>l (d)F<CI>Br<lI
(vi)  sp®hybidization orbital has % of s character.
A8) 25(b) 50 (c) 75 (d) 100
(vii)  The conjugated base of H;0" IS
14a) H,0 (b) OH™ (c) H,0, (d) none of these
(viii)  Which concept classifies the acids and bases on basis of proton transfer ?
(a) Arhenious (b) Lewis (c) Lowery Bronsted (d) none of these
(ix) The difference between observed value and true value is called ?
(a) Accuracy (b) Error (c) Precision (d) Reproducibility
(x)  Number of significant figure for the data 0.00240 is
@2 ()5 (@3 (d6 |
Q-2. Answer in short (Any ten) [20]
(a) Define E; and E, '
(b) Give structures and IUPAC names for all possible isomers of C, Hg.
{c} Give Corey House reaction.
(d) Give definition of lonization energy.
(e) Give the Pouling's equation for electro negativity.
(f) What is Mendeleef's periodic law?
{g) Write La Chatalier's principle.
(h) What is common ion effect ?
(i) Discuss the limitations of Arhenius theory.
() Define Qualitative and Quantitative analysis.
(k) Write advantages of Chemical method.
{l) Explain the term Accuracy and Precision.

@ P10




Q-3. (a) Write a note on halogenations of alkane.
(b) Discuss Ozonolysis of alkene with example.
OR
Q-3 . (a) Discuss E; reaction mechanism with example.
(b) Calculate the percentage of isomeric products obtain upon monochlorination of n-pentane.

The relativity of 1°, 2° ,and 3° H are 1: 3.8: 5.

(5]
[5]

[5]

[5]

Q- 4. Define ionization energy. Discuss the factors affecting the magnitude of lonization energy. [10]

OR
Q- 4. Explain the long form of periodic table.

Q-5. (a) Write a note on Buffer solution. 4
(b) Calculate pH value of a solution obtained by mixing 50mi of 0.2N HCI with 50ml of
0.1N NaOH, '
OR
Q-5. (a) Write a note on Selective precipitation with suitable example.
(b) The solubility of AgCl at 25°C in water is 1.67 x 10”° mole/lit. Calculate the solubility
product of AgCl.

Q-6. Give complete classification of chemical analysis and write stages of analysis.
OoR
Q-6. (a) What is Error? Discuss the types of error. Discuss different methods for the
minimization of error.

@

[10]
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Choose the most appropriate option for the following:
Ozonolysis of 2-butene gives
(a) Butanoic acid  (b) Acetic acid (c) Formaldehyde &,\Acetaldehyde
Addition of HBr to 1-propene follow............ Rule.

&) Markovnikov’s (b) Anti- Markovnikov’s (c) Satyzeff's (d) Grignard’s
Which of the following is a correct name of isobutylene according to the IUPAC rules?

\j}) 2-methyl-1-propene (b) 2-methyl-2-propene
(c) 3,4-dimethylpentane (d) isobutene.
The position of ____element in mpdern periodic table is still a matter of dispute.
(a) Helium Ab) Hydrogerﬁ (c) Lithium (d) Carbon
The electron affinity of ____elements is either close to zero or slightly negative.
(a) Alkali (b) Alkaline earth (c) Halogen v1d) Nobel gas
Which of the following is the Lowery-Bronsted base as well as Lewis base ?
\/h) NH4* (b) NHs ©2(c) BF3 (d) CO,
On self-ionization, water molecules produce .
(a) H30 *ion (b) OH~ion A€) H30* and OH" ion (d) oxygen molecule
Which of the following is conjugated base of HF?
(a) HzF* (b) HFz (c) H* Gl
In Analytical chemistry, the difference between observed value and true value is
known as
(a) accuracy \AB) Error (c) reproducibility  (d) precision
Number of significant figure for the data 0.03030090is |
(a) 5 (b) 6 ()7 [}) 8

Answer the following in very short: (Any Ten)
1-butyne gives white precipitates with Tollen’s reagent but 2-butyne does not. Explain

Why acetylene is stronger acid than ethane?
What precautions should be taken for hydroxylation of alkene with KMnQ4?
On the basis of Hannay and Smith equation calculate % ionic character of covalent
bond in gaseous HF and HBr molecules.
(Given: xn =2.2, Xr= 4.0 and s =3.0)
Explain: Electron affinity values of nitrogen and phosphorous are very law.
Define: Electron affinity and Electronegativity.
What are acid-base indicators?
Complete the following equations and distinguish conjugate acid-base pair.
(a) CH3COOH + H,0 =
(b) H 0 +NHz;=
The buffer solution can be diluted without change in HsO* concentration. Explain
Define: Accuracy and Precision.
Write advantages of Instrumental Methods.
~ Following are the results for percentage Zn in the samples. Check the reliability of the
outlying result with the help of Q-test.

' 8.0,8.2,8.4,8.5,9.6%Zn Qcrit=0.710

Total Marks: 70
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Attempt the following:
Write reaction mechanism for the monochlorination of alkane.

A i

A ok sk ok sk sk ok Sk sk %

(05]
The following names are objectionable. Write their structure and correct IUPAC name. [05]
(1) 2-isopropyl-2-butene (2) 1,1-dimethyl-1-butene
(3) 2,2-diethyl butane (4) 2-n-propyl-1-propene
(5) 1,1-diethyl-1-butene
OR
Attempt the following:
Explain kinetics and detailed stepwise mechanism of E1 and E; reaction. [05]
Calculate percentage yield of the products obtained upon monochlorination of [05]
isopentane. The relative reactivity of 1°, 20 and 3° H-atom is 1:3.8:5 respectively.
Define ionization energy. Discuss the factors affecting the magnitude of ionization [10]
energy.
OR
. . . . . & =21 e
What is effective nuclear charge? How it changes with change in number of [10]
intervening electrons and size of the atom? Calculate screening constant (o) and = 5 4
effective nuclear charge (Zes) of 4s electron in (i) Mn (Z=25) and (ii) Cu (Z=29).
k_> 0/:* 2553
Attempt the following: B Beif s 37
What is hydrolysis? Derive an eq/uation correlating Kn and Ky for a sodium acetate salt [05]
in water,
Calculate solubility of PbSQ4 in (i) 0.1M Pb(NOs), and (ii) 0.001M Na,SOs solution. [05]
(Ksp of PbSO4= 1.8 x 108)
OR
Attempt the following:
Discuss the Arrhenius acid-base theory with its limitations and write a short note on [05]
Lowry- Bronsted concept.
A solution contains 0.1M CI" ion and 0.01M CrO42 ion. When aqueous AgNOs is added [05]
to this solution, which salt will precipitate first? What will be the value of [Ag] when
the first salt starts to precipitate? What will be the value of [Ag'] when the second salt
starts to precipitate? What will be the value of [CI'] when the second salt starts to
precipitate? Ksp of Ag2Cr04=1.9 x 102 and Ksp of AgCl=2.8 x 10°10
Attempt the following:
Explain the classification of chemical analysis based on data to be generated and [05]
amount of sample.
Discuss applications of chemical analysis in different fields. [05]
. OR
Attempt the following:
Write a note on Sampling of solid, liquid and gas. [05]
Define error and give classification of errors. [05]
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EmY SARDAR PATEL UNIVERSITY
B.Sc.(First Semester Examination)
General Chemistry-1. (USO1CCHE21)

Date:-11th Nov 2019 Total Marks :70
Day:- Monday Time : 2-00 to 5-00

Note:(i) All questions are to be attempted.(ii) Figures to the right indicate marks.
Que.l Choose the correct option for the following:

1 Both symmetrical and unsymmetrical alkanes can be synthesized using......

(a)Wurtz reaction L Ab) Corey-house reaction
(c) Kolbe reaction (d) Wurtz-fitting reaction
2 Initiation step for the photochemical halogenations of alkane is.......
(a) exothermic 1 Ab) endothermic
(c) both exothermic and endothermic ~ (d) depend on alkane
£ How many isomers are possible for C¢Hj4?
(@4 )5 (©6 () 7
4 element does not form ionic compound readily.
p4a)Be (b)Sr (¢) Ca (d) Mg
5 sp hybridization orbital has % of s character.

(a) 25 @ 50 (c) 75 (d)100

6 is not gas at room temperature.
(@H, ()N, 14)Bn (d) Ne
7 Which of the following is the Lowery Bronsted base as well as Lewis base.

Ufa)NH,"  (b)NH;  (¢)BF;  (d)CO,
8 is a sparingly soluble salts.
(a) KC1 pAb) AgCl (c) NaCl (d) All of these
Volumetric analysis and Gravimetric analysis are the types of:
(a)Thermal analysis | Ab) quantitative analysis
(c) optical analysis (d) All of these
10 The difference between observed value and true value is called ?
W8 Accuracy (b) Error (c) Precision  (d) Reproducibility
Que.2 Answer in short (Any ten)
1 What is Grignard Reagent?
2 Explain Wurtz reaction?
3 Define E; reaction?
4 What is Modern Periodic Law?
5 Name the Factors affecting the magnitude of ionization energy?
6
i
8

el

Which group of periodic table has highest value of electronegativity?
What is common ion effect?

Define sparingly soluble salts with example.

g Discuss the Concept of Lowery-Bronsted acid-base with suitable example.

10 Discuss limitations of Chemical method?
B 1 Discuss Advantages of instrumental method.

@

12 Explain: Accuracy and Precision.

EFTe)

10

RS il e e BS Sl L L e masveeeltleta



w >0
n

w >0
N

m>@
)

Attempt the following
Write a note on Markovnikov’s rule.
Calculate the percentage of isomeric products obtain upon monochlorination of
Isopentane. The relativity of 1o, 20 ,and 30 H are 1: 3.8: 5.
OR
Attempt the following
Write a note on halogenations of alkane.
Discuss E, reaction mechanism with example.
Attempt the following
Define electron affinity. Discuss the Factors affecting the magnitude of electron
affinity.
OR
Discuss the Defects of Mendeleef’s periodic table.
Attempt the following
Discuss the Arrhenious acid —base concept with its limitation.

Calculate the solubility of CaF, (i) pure water (i) in 0.1MCa(NO,), Solution

. Ksp =1.7 x 10
OR
Attempt the following
Write a note on Selective precipitation with suitable example
Calculate pH value of a solution obtained by mixing 50ml of 0.2N HCI with 50ml
of 0.IN NaOH.
Attempt the following
Define the term chemical analysis and discuss application of chemical analysis .
List out different methods for the minimization of systematic error and explain on
any three of them.
OR
Attempt the following

Define Error .Give Complete classification of error

The following values were obtained for the determination of cadmium in a sample
of dust: 4.3,4.1, 4.0, 3.2, 4.2, 3.9 and 4.0 pg g-1. Should the value, 3.2, be rejected?
- (Qerit=0.570).
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SARDAR PATEL UNIVERSITY
B.Sc. (SEMESTER-1) EXAMINATION
(On Demand Exam)
GENERAL CHEMISTRY-I (USO1CCHE21)
Date: | 0-02~ 2022, moMoluy
Time: )0.60am 10 .00 pm.

Total Marks: 70
Q:1 Choose the most appropriate option for the following: [10]
(i) Which carbocation is least stable ?
(a) 2° (b) 3° (c)1° L-d) *CHs
(i) EZmechanismisa .......... step reaction.
(a) two p-tb) single (c) three (d) Zero
(iii) How many isomers are possible for butane ?
W) 2 (b)3 (c)4 (d)5
(iv) sp hybridization orbital has ........c.c...... % s-character.
\4a)50 (b) 33 (c) 75 (d) 25
(V) oeveecenenn IS NOt gas at room temperature.
(a) Hz 11(b) Br, (c) N2 (d) Ne
(vi) Which of the following element do not form ionic compound readily?
(a) Mg (b) Sr LAC) Be (d) Ca
(vii) pH of an acidic solution is less than ............ '
\Aa) 7 (b)9 (c) 14 (d) 10
(viii) The conjugate base of H2O is ........... .
(a) H3O* v(b) OH' (c) HNOs3 (d) HCOs
(ix) The degree of closeness between measured value and true value is ...........
(a) Error t1b) accuracy (c) reproducibility  (d) precision
(x) Number of significant figure for the data 0.1025 is
\@,4 (b) 3 (c)2 (d)1
[20]

Q:2 Answer the following in very short: (Any Ten)
(i) M.P. of trans-2-butene is higher than cis-2-butene. Explain
(ii) Give the synthesis of 2-pentyne from 1-butyne .
(i) Give difference between E1 and E2 mechanism.
(iv) What are defects of Mendeleef’s periodic table ?
(v) ‘Explain: NaOH is base while CIOH is an acid.
{vi) The ionization energy of N is higher than expected. Explain
(vii) ~ Give the difference between strong electrolytes and weak electrolytes.
(viii) Give the limitations of Lowry-Bronsted theory for acid and base.
(ix) Give the difference between strong base and weak base.
(x) Write limitations of Chemical Methods.
_(xi) Define: Qualitative and Quantitative analysis.
(xii) Give limitations of Analytical methods.

() Cpro)



Q3
[a]
[b]

Q:4

Q:4

Q5
[a

(b]

Q:5
[a

[b]

Q:6
- a]
- [b]

- Q6
[a]

fb]

lba abc abh <

Attempt the following:

Explain kinetics and stepwise mechanism of E2 reaction.

The following names are objectionable. Write their structure and correct IUPAC name.
(1) 2-isopropyl-1-propene  (2) 1-ethylpentane

(3) 2-ethyl-1-propene  (4) 2,4,5-trimethylhexane (5) 2,2-diethylbutane

OR
Attempt the following:
Discuss Keto-enol tautomerism giving illustration.
Calculate percentage yield of the products obtained upon monochlorination of
n-butane. The relative reactivity of 1°, 2° and 3° H-atom is 1:3.8:5 respectively.

Define electronegativity. Discuss the factors affecting the magnitude of
electronegativity .

OR
Give Slatter’s rules. Calculate screening constant (o) and effective nuclear charge (Zef)
of 4s electron’in (i) Mn (2=25) and (ii) K (Z=19).

Attempt the following:
Discuss Arrhenius acid-base concept with its limitations.
Calculate solubility of CaF; in (i) 0.1M NaF and (ii) pure water.

(Ksp of CaFy= 1.7 x 10°°M )
OR

Attempt the following:
Write notes on Selective precipitation giving suitable example.
The solubility product of Mg(OH)z at 25 °C is 1.4 x 10! M . What is the solubility of

Mg(OH) in gm/lit.( Molecular weight of Mg(OH); =58 gm/mole )
Attempt the following: _
Discuss applications of chemical analysis in different fields.
Write a note on Sampling of solid, liquid and gas.
OR
Attempt the following:
Discuss on stages of analysis.
Give the brief account on Interferences.
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SARDAR PATEL UNIVERSITY
B. Sc. Examination (First Semester)
. USO1CCHE21 (General Chemistry-I)

SOLUTION

Q-1 Choose the correct-option for the each of the following. 11
(1) Alkyl magnesium halide is known as_____reagent.

(a) Tollen’s (b) Bayer’s (c), Grignard (d) Wurtz
(2) Sec. Butyl bromide upon reaction with Zn and acid produce______

Wa) n-butane (b) isobutane (c) n-octane (d) isooctane

(3) E2 mechanism follows ____ order kinetics.

(a) zero (b) first ‘@ second (d) third
(4) ___ isnotagasatroom temperature. (@) Hy (b) N2 (c
(5) SP hybridization orbital has __% S-character. (a) 75 (b'/ﬁm

(6) According to lewis concept, acid is
(a) electron donor.}b«) electron acceptor (c) proton donor (d) proton acceptor

Br, (d) Ne
{c) 25 {d) 83.33

(7) BFsis an acid according to concept.
ck tewis (b} Arrhenious (c) Lowery-Bronsted (d) None
(8) The conjugate base of H,Ois . (a) H30+‘}b) OH™ (c) H,0" (d) H30

(9) The amount of the substance taken for the micro analysis is

(a) 0.1gandmore (b)0.1gt00.001¢g ‘9,0.001 g to 0.0001 g (d) None

(10) Volumetric and gravimetric analysis are the types of analysis.

(a) Thermal (b) Optical method 9Quantitative (d) All of these
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USO1CCHE21 (General Chemistry)

SOLUTION
ol Aetl Hiell A [Aseu wie s2. \ [10]
ules B NoARlAH dcuss__ ulsas 3% sl 8.

() et (o) QAR (8) AlostlS (5) 9exs

Rellas szjeiet lisell zn ual ARs Wl yBauell __aal 8.

() n-6J2et () AUSA 63J2et (5) n-llset (3) WA U5t

2 uBa-Gaul®,_ sHoll alAslal g2 B.

() 9ot (o) yar (5) Bl (s) qdla

2A25lell UM, g3 Sl otell (1) Hy (6L) No(8) Bra (S) Ne
Sp-2U520L 5815, %S el uRld 8. () 9U (61) U0 (5) U (S) 33.33

ALY Rtald yru ARS A, 8.
() B8AsAlet Elcll (o) BAsFe 5125 (5) Yelot Elcll (S) Ylelet 5128

_ Rtdid Yo BF; ARS B.

) AR (o) IR (5) A-lerBS (3) ABA o(3

H,0 oll ¥2joH QB3 B. () H0" (1) OH (8) H,0" (8) H0

HeH Y2auseL H2, UELdsll oyollel oggsll Rl AcllHl A B,

(1) 0.1g ol ay () 0.1g &l 0.001g(5) 0.001g ¢l 0.0001g (5) WHA ol($
SEMIUS U CURHIUS Y25l UslRell Yeus 8.

() Gullat (o) ystallal (5) weels (S) A AUl %




